Precalc/Trig Quiz P.1-P.5 Review ALL Work Must Be Shown on Quiz to Get Credit

Solve the equation.
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Solve by completing the square.
4) x2 = 7 -4x

5) 4x2 +32 = 24x

Solve the equation graphically by finding x-intercepts.
6) |5x - 6|= 5
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Simplify the expression. Assume that the variables in the denominator are nonzero. &
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Solve the equation by extracting the square roots.

10) 30y 4+2y2 = 45

Use interval notation to describe the interval of real numbers.
11) x is negative. ~

12) -5=x< -1

Solve the equation using the quadratic formula. ;rp ¢
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Solve the inequality.
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Solve the equation by factoring. o
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